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1. Define the public sector in India, its objectives, role and performance. 14.
OR

1. Classification of industries and industrial policy of India.

2. Discuss the changes of pattern of industrial development and problems of industrial

development tin India 14
OR
2. Discuss the small scale industries, role, problems and, measurement to improve its
performance.
3. Define social security and its measures in India 14
OR
3. Discuss the industrial disputes and its causes, and its settlement machinery in
India
4. Define meaning and various theories of trade unionism 14

OR

4. Discuss development and problems of trade unions in India

Q.5 multiple choice questions - MCQS 14
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Which of the following was not an objective of the 1956 industrial
policy?

development of cooperative sector

expansion of public sector

development of heavy and machine making industries
none of the above

. The first factories act was enacted in

1881
1895
1897
1885

social policy deal with issues such as
poverty

poor housing

disability

all the above

. social sector includes........

health and education
water and sanitation
housing

all the above

Contract labour (regulation and abolition act 1970) can be classified into
the category of......

social security act

industrial act

welfare act

commercial act

Which section deal with conditions for certification of standing orders?
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section 6
section 4
section 3
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section 7

7. The contract labour ( regulation and abolition act 1970) , prohibits use of
contract labour for ----------- functions in a company.

financial

day to day

core
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effective

. The trade union act came into operation from........
Ist June 1927
1st may 1926
1st June 1926
none of the above
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Recognition of trade union is made by the provision of????

trade union act 1926

industrial dispute act 1947
code of discipline

factories act 1948
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10. Which of the following statement is correct about the new industrial
policy 19917
a. it made it compulsory for the industry to obtain licence for all projects
b. it abolished licensing for all projects except 18 industries of strategic and
security importance
c. it gave dominant position to be the public sector
d. none of the above

11. In the industrial policy of 1991, how many industries were reserved
only for public sector?
a. 07
b. 08
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12.Which of the following is not a type of trade union?
a. craft union

b. stable union

C. company union

d. industrial union

13.Theories of trade union includes....
industrial democracy

b. social psychological

c. capitalism approach

d. all of these
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14.if the workers of different categories from into a union that unoin is
called

industrial union

general union

craft union

none of these
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